CORASTER, 950048

FINE FURNITURE
CONSOLE

ASSEMBLY INSTRUCTION
COASTER FINE FURNITURE

www.coastercompany.com

page 1 of 4

2012/12/06




ITEM : 950048 ASSEMBLY INSTRUCTION

ASSEMBLY INSTRUCTION

ASSEMBLY TIPS:

1.Remove hardware from box and sort by size.

2.Please check to see that all hardware and parts are present prior to start of assembly.

3.Please follow attached instructions in the same sequence as numbered to assure fast & easy assembly.
AWarning Il
1. Don't attempt to repair or modify parts that are broken or defective .Please contact the store immediately.
2. This product is for home use only and not intended for commercial establishment.

PARTS IDENTIFICATION 7 HARDWARE PACKAGE
e NO DESCRIPTION FIGURE Q TY
(A) BACK PANEL I | pc | 1 |MEDIUM SCREW 24X 40mm Ei:li‘iil 2 pes
2 | DOWEL 28X 25mm 2 pes
3 | FLAT HEAD SCREW 26 X 25mm 0))))))}))))) 3 pcs
4 | EXTRA LARGE SCREW @6 50mm @))D)))‘D))))))))))))) 4 pcs
(B) SHELE Q PPOT 5 | HaER NUT 210 15 N~) | 2vpes
6 | HAMMER SCREW 26 < 65mm 2 pes
(C) LEFT LEG ( 1 pc | 7 |WOOD SCREW @7X58mm | INIImD| 2 Pes
8 |PIN 8mm 2 pes
~ 9 | ALLEN WRENCH M4mm ~— 1 pe
(D) RIGHT LEG | pe | 1O STICKER @13mn O 2 pes
11 | ANTI-TIP HARDWARE N 1 pc
12 | SMALL SCREW 24X 25mm 1 pc
13 | LARGE SCREW 25X 40mm | {)mmmmmm>| 1 pe
() BASE BOARD PPC T g piastic pLug esxcomn | @ Sy | 1 pe

15 | GLUE 10g 1 pc
(F) ToP 1 PC

COHSTER ® www.coastercompany.com

FINE FURNITURE

page 2 of 4




ITEM : 950048 ASSEMBLY INSTRUCTION

'@ Put 5 into C,D. 2 drop 15 and insert A

| @ Align the hole, put E together with C,D, A
rand fix them tightly

I ® Insert 6 through E by 9 and screw in C&D.
'@ Tnsert 7 through E and screw in A.

' ® Cover 10 with 5.

ro-
‘ @ Align the hole ,put A,C,D together with F.
| @ Insert 4 through C,D by 9 and screw in F.

I ® Insert 3 through A and screw in F.

[

|

@ Insert 8 into C,D.

C O HSTE R ® www.coastercompany.com

FINE FURNITURE

page 3 of 4



ITEM : 950048 ASSEMBLY INSTRUCTION

I
' @ 2 drop 15 and insert B.
"'® Align the hole, put B together with A and

: fix them tightly.

size @7mm, deep 50mm, knock the 14 into the :
wall. [
@) Insert 12 through one side of 11 and screw !
in F, insert 13 through the other side of 11 !
and screw in 14. |
® Put the drawer into F. :

|

COHST R o www.coastercompany.com

FINE FURNITURE

page 4 of 4



	1.pdf
	2.pdf
	3.pdf
	4.pdf

